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Problem 2.72. (a) What is the Eddington luminosity for 1 kg of material for p. =17 (b) Does
this suggest that a liter of water in an open pan would start ejecting material if it were
radiating at this luminosity? Discuss why or why not. (c) Suppose you took the water into
the vacuum of space and released it so it would be free of earth’s gravity. How might it
behave? What does the Jeans criterion tell you (Section 2.2) about the temperature that

would be required for self-gravity to dominate the thermal motions? State your assumptions.
[Ans. ~5 W; ——]



